SMS-360RT25-AAA-0

PITT Qube

O8fidFERCEESTEIEDNHYET,
CERHIBIEREA DM X,

STHBYFIEA.

SidfT

=
b

O & fEE A 7 & ER dn D AR

OXRTESITHERIEENTSY FEA,

2025/03/25 16:42:51

Copyright(c) KOSHIN Ltd. All Rights Reserved.



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SMS-360RT25-AAA-0

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. mE i RE - ME B EM wE
1 045398301  [SMS-360 /83— PA 1 2,600
2 045398601 [SMS-360 /\> RILEY PA 2 200
3 045399601 [CELIE®HE 2 200|(N)
4 045398701 [SMS-360 XvF1)—7 % PA 1 2,600
5 045399701 [EfFEY SUS A& 1 200[(N)
M6 ¢ 3x50
6 045748001  [SMS-360&#R 7 I 1 4,300
7 056121401 [PPD-1825P/\v 1) —ikJL ¥ — B ix PC 1 200|(N)
8 718405017 [+ZFAR[YvEVITRY siUé M3x8 |3 200[(N)
9 045402201 [SMS-360EJRS NIl 1 200|(N)
10 |045398201 [SMS-360 7 > & —H/\— PA 1 3,700
11 |045398801 [SMS-360 754 1 700
12 |718405034 |[+FERASvEVITRY 4x10SUS |4 200|(N)
13 |718405037 [+FERfF9vEVITRY 4x16SUS [10 200|(N)
14  |045403401 [FREIvEVITRY M5x20 2 200((N)
SUS304
15 |045398901 [SMS-360 U ) —RKR¥& ¥ PA 1 300
16  |045400001 [SMS-360R 7)) >4 65MN 1 200((N)
17  |045399001 [SMS-360 2R 7Y v 5% PA 1 200[(N)
18 |045399401 [SMS-360E—% —REEA SECC 1 1,600
19  |045400201 [SMS-36 E—% — CGHEHAL) 1 23,500
20 |045404401 [3EELRANARMRIL S M4x16 4 200[(N)
21 045747701 |SMS-360 fRibT 4 X0 7 X 1 2,500
22 |045846605 |MS-252:KY 74 3 1 11,700

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 16:42:51




SMS-360RT25-AAA-O
O&BfMEFERKEESTHIEADYET,
OERHEIFIRBEA DAY £,

PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

No. ES m W% - B B EfM e

23 045260703  |MS-252 ;KRY TAIK 1 4,300

24 045261201 MS-252 t° 2oy b 1 2,000((N)
25 045266501 MS-252 7° y9%- FCD 1 3,100

26 045264701 MS-252 7° yoy-3" 4 1 500|(N)
27 045266301 MS-252 t° Ahvfiq- 1 200|(N)
28 045266401 MS-252 £ Abvh 4 1 400|(N)
29 045266601 MS-2520% 7K # B SUS 1 300|(N)
30 045265001 MS-252 IRKFH Z — SuUS 1 400|(N)
31 045264901 MS-252 DRIKFFAyN° - SUS 1 200|(N)
32 045264802  |MS-252 #I3-IA (K RIA7° YY) FKM 1 1,100|(N)

SW16x24x6
33 045133102  [MS-400 t° 2bv9-B FKM 1 3,000|(N)
34 045137401 ovvy” $26x @2 1 200((N)
FKM

35 045148402  [MS-400 #My-KC NBR 1 500|(N)
36 045268601 AV ] S SUS M5*50 |1 200|(N)
37 045268901 SHELRTFERMFN©RY SUS M5x16 |3 200((N)
38 045269201 INRESR SUS ¢ 5 1 200((N)
39 045282601 oy P5 FR 1 200|(N)
40 045271101 MS-252 7% y9e-h" 40 $vy7° 1 300|(N)
41 045269101 TEE SUS ¢ 5 2 200((N)
42 045260805  [MS-252 t° abhvr-2 1 1,600

43 045266901 MS-252 SUv5" 1 47° SUS 1 4,000|(N)
44 889857022 |OYvy° P22 FKM 1 200((N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 16:42:51



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SMS-360RT25-AAA-0

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. mE m W& - B B Eff &%
45 |889857906 [OU V4 FR P25.5 |1 200|(N)
46  |045261101 |MS-252 N 7" Hy" - 1 700|(N)
47  |045265201 |MS-252 IR AN W7 3RS X 1 700|(N)
48 045265301 [MS-252 BR AN L7 1 300|(N)
49 045265401 [MS-252 N7 27°Yvh° 1 200((N)
50 |045265502 |MS-252 EHAEH 1 400((N)
57 045271202 [MS-252 RKFEE SUS 1 800|(N)
52 |045267302 |[MS-252FABEBR TSI SUS WPB 1 200((N)
53 045261001 [MS-252iAF ./ 7 1 400
54 |045268701 [ARARMRIL SUS M5x40 |1 200|(N)
55 |045269001 |[AA&Fv b SUS M5 8 200|(N)
56  [889857901 [OUY P10OAFKM |1 200|(N)
57 045271001 [3REARTEAMLFNNRY SUS M5x25 |4 200|(N)
58 045282801 [0Y¥%" P21 FR 1 200|(N)
59 |045283001 [OYY S6 NBR 1 200|(N)
60 045283101 [OY¥y" S14 NBR 1 200|(N)
61 045260901  [MS-252/4 /X2 A4k 1 900
62 (045261401 [MS-252fAFER T v 7=} 1 400((N)
63 |045268801 (3 AtELANANRMRIL L SUS M6x55 |4 300|(N)
64 045400601 |7"ATTERIL b SUS M8x15 |4 200|(N)
65 [843805008 |/\RES ¢ 8SUS 4 200|(N)
66 |045398401 [SMS-360 EiR PA 1 2,000

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 16:42:51




PITT Qube
ORMEASEBROBEFT>TEY A,

OXRTEGISHERIEEN TS Y FEA,

SMS-360RT25-AAA-0

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. i LLE Mg - HE BRI Eff T
67 045333501 ES-10CBA#R T 4 4 600((N)
68 827105006 |Fv k SUS M6 4 200((N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 16:42:51




PITT Qube SMS-360RT25-AAA-O
O&MEAREEHRDRTIET>TEY T A DEMIEFERKERETHIENHYET,
OXRTMERIOEERIEEENTEY T A, CERHERIRBEA DAY £,

Copyright(c) KOSHIN Ltd. All Rights Reserved. 6 2025/03/25 16:42:51




SMS-360RT25-AAA-O
O&BfMEFERKEESTHIEADYET,
OERHEIFIRBEA DAY £,

PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

No. i SREZ G - ME BRI EfM S

69 045399301 SMS-3601Htk SPCC 1 3,700

70 843805006 | \RE& $6SUS |4 200|(N)

71 827405006 NAETY R M6 1 F& 6 200((N)
SUS

72 045747001 SMS-360 #i-AJ-I1H3B 1 25,800

73 045250002 MS-ER25T tyy™ fby™ - ADC 1 1,400

74 045303501 91-7"7y4- WW-40 N1 |1 200((N)
FAsR

75 045842002 ot H5-253 PVCHE®E 1 6,400
DIC576
¢ 6x20M

76 045136601 MS-400R /N> RJL PA 4" V- DIC- |1 400
G49

77 045145502 MS-400R S5 —/84 7 STPG 1 400|(N)

78 045135002 MS-400R #i-aY-I{aI#R 707 b 1 4,100

79 045135102 MS-400R #i-AY-I{EIHRY 7 ADC YN - 1 4,400

80 045147401 MS-400R Y-k’ 47° (45) AL HE L=50 |2 500

81 045106104 MS-2503 1) B L (TWF") 8.590° @Y |1 3,200|(N)

82 045150502 MS-400R IV} N 47° STKM 1 2,800|(N)

83 045302501 NREEEATENGFRNRY SUS M5x20 (12 200((N)

84 045302901 NARIL N BhEE SUS M6x18 (3 200((N)

85 045302301 +ERGE NS RAPMRY SUS M8x45 |1 200|(N)

86 045303401 EREE SUS ¢ 8 1 200((N)

87 045303301 NATY R EPUS M8 1% |1 200((N)

88 045234203 MS-ER25TH85K— A H A K SS 1 4,700

89 743119045 MAN FZIE T EE S HHIA S AT b M8x20 2 200((N)
SWRM

90 045400701 SMS-360 ¥ > ¥ PE 1 3,000

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 16:42:51



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SMS-360RT25-AAA-O
O&BfMEFERKEESTHIEADYET,
OERHEIFIRBEA DAY £,

N[} RE m Mg - ME B EM T

91 045747301 |SMS-360 9>V F*vv U X 1 1,100

92  |045400801 |SMS-360% >V Fv v PP X N O|NO.917 X Tfit#a
—1

93  |045014003  |KK-18X 479%vy7°n° vky NBR 1 500|(N)

94  |045078401 |RM-107) —H—2Kv > 1 200((N)

95 |045368201 [S-109 v o F+v v S # 17150 FEE 1 200((N)
PVvC

96  [040048003 |HS-251 A kL —F— PP B 1 200((N)

97  |045747401 |SMS-360 7L —LAY X A=Y T 9,300

98  [045401301 |SMS-360 #1 K7L —AA S45C #7M A 1 4,700
=91

99  [045401701 |SMS-360 %1 K7L —AB S45C #uh A" |1 3,300
1

100 (012362601 [T LR SBR 2 300

101 |045199101  [MS-251RT25 N 47°%vy7° PP & 2 200((N)

102 [045191901  [MS-251RT25 nvbh h4+97° PZ-8 2 200((N)

103 |827405008 |ANEF v k M8 1/ |8 200((N)
SuUs

104 |743119057 |~V A RFEIERESERANARIL b SWRM 2 200((N)
M8x60

105 |743119038 MY L RBIERESEANERIL b SWRM 4 200|(N)
M8x35

106 045401801 |SMS-360 41 ¥ = 2 3,100

107 045284301 [EIEY 4*36 2 200((N)

108 |045239101  [MS-25TRT25FE#N 177"y PP DIC-G49 4|2 200((N)
T

109 045284201 (7v¥+ $20*37*T3 |2 200((N)

110 |045284401  [MAN BIXRESERANAF Wb SWRM 2 200((N)
M8x65

111 |045401901 SMS-360 /N2 RILT L — LA S45C #7h A" 1 4,400
_¢/"1

112 |045197302  [MS-251RT25 /7" Wb M8x35 & 2 400

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 16:42:51




SMS-360RT25-AAA-O
O&BfMEFERKEESTHIEADYET,
OERHEIFIRBEA DAY £,

PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

No. mE & g - ME ERE  Eff S
113 |045821003  |MS-400R J-IiE#H-253 ¢8.5x0.35M 1 4,300|(N)
114 |045700602 |MS-252RT25 lRAKR—R 7 S 1 1,300
115 |045335902 |MS-252RT25 h—RA T v 5 SUS 1 600|(N)
116 |045180301  |MS-251 AN—F-/N(Xyyafd) 1 1,800
117 |045185902 |MS-251 ¥ 1t Un uf 620 1 400|(N)
118 |045199002 |MS-251RT25 §753° b 9%V EPDM 2& |1 500|(N)
119 |045162802 [TK-50N AN ~T-97y7° SUSWPB |1 800
120 |045811601  |MS-250 Z/KiH-A53 7X2.5M 1 1,000
121 |045835704 |MS-251 ya-1/X W3 T 7,700
122 045204101 |MS-2510EARE 97" B2 1 700|(N)
123 |045205901 |MS-2511&#R SUS¢1.2 |1 400|(N)
124 |045204201  |MS-251IEARN 757 NBR 1 200|(N)
125 045213602 |MS-E2R25TAR—/Lav & GPR1/4 |1 7,400|(N)
126 |045396401 |[SMS-36RT25FE 5 ~IL 1 200|(N)
127 |045396301 |[SMS-36RT25&M5 ~L T 200|(N)
128 |045231601 |KK-10V I Lv¥vy7° (VD) POM 1 300|(N)
129 045231701 |KK-10V I V197" N %Y FR 1 300](N)
130 0568517 PA-334 36V/\y 7 1) — T 18,200|PA-334(4971770-560178)
131 0568682 KBC-360 1 6,930|KBC-360-AAA-0 (4971770-
561823)
00 |045396201 |SMS-36RT25EUIRE:FAE 1 0

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 16:42:51




